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restart

Sistema = diﬁr(xl(t), t) =3-x,(1) +4-x,(1), diﬁr(xz(t), t) =2-x,(t) +5-x,(¢) : Sistema,;

Sistema,,

d x, (1) =3 x,(t) +4x,(1)

— X%, (1) =2 x,(1) +5x,(1)
Condiciones = x,(0) =5, x,(0) =-5;

Condiciones .= x,(0) =5,x,(0) = -5
AA = array([[3,4], [2,5]])
3 4
25

AA =

Xcero = array([5,-51])
Xcero .= [ 5 -5 ]
with(linalg) :
with(inttrans) :
1= array([[1,0], [0, 1]])
10
1=
01
MatSi == evalm( s-1I - AA)
s—3 -4
MatSi .=
-2 s—5
InvMatSi = inverse(MatSi)
s—5 4
2 2
s —8s+7 s —8s+7
InvMatSi .=
2 s—3
s2—85+7 s2—8s+7

MatExp := map(convert, map(inviaplace, InvMatSi, s, t), exp)
2 ¢+, 702 70 2
3 e + 3 € 3 € 3 e
MatExp =
ie”—iet iez+;e7t
3 3 3 3
MatExp?2 := exponential(AA, t)
2 ¢+, 702 70 2
3 e+ 3 € 3 € 3 e
MatExp2 .=
Leﬁ_iet Let+£e7t
3 3 3 3
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> Sol = evalm( MatExp &* Xcero) : Sol,; Sol,

20 of 5 71
3 3
5 e 10
i 3 3
> Solucion = dsolve({Sistema, Condiciones}) : Solucion; Solucion,
_ 20 ¢+ 5 ¢
x, (1) = T e — ? e
_ 5 7 10 ¢
X, (1) = - ? e — T e

(10)

an



